Exercise 090206 Gra 6020

Regression analysis 

The data for this analysis is to be found in the SPSS-file 

Gra6020-case-regr-2004V.SAV (Gra6020-case-regr-2004V.PSF lisrel file) 
This is a cross-sectional data set on the aggregate personal income and expenditures on health care for the 50 U.S states and Washington, D.C., for 1993 (sample size = 51). 

Exp = Aggregate expenditures on health care in billions of dollars

Income = Aggregate personal income in billion of dollars

Pop = U.S population in millions

Seniors = Percent of population 65 years or over in 1993 

Concentrate on the following regression model:
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Evaluate the models and present interesting graphical plots. Do an analysis of the residuals. Use the OLS estimator

Logistic Regression

The data for this analysis is to be found in the SPSS – file Binomgra1.sav
(Binomgra1.psf Lisrel file)

Estimate the model 
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Where P is the probability that a chosen person is employed.

Please answer the following questions:

a) Which of the predictors do have a significant effect?

b) Does the model fit the data?

c) Compare the logistic model with the linear probability model

d) Calculate the probability that a person with edu = 10 and score = 11 is employed. 
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